	Current Fees 7/1/2023	Proposed Fees	Increase	
		Residential		
Residential Building	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
one and two family	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
Electrical	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
Plumbing	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
GAS/Mechanical	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
Pools	\$25 - \$6 per 1,000	\$35 - \$8 per 1,000	\$10-\$2 per 1,000	
Certificate of Occupancy		25	\$50	\$25
Demo Permit	\$	25	\$50	\$25
Renewal of expired permits	:	\$0 1/2 cost of current permit	1/2 cost of current	
Re-inspection fee after failed	I			
inspection		\$0	\$35	35
Work started without permit.		2x cost of permit	2x cost of permit	
		Commercial		
		Commercial		
Commercial	\$50 - \$6 per 1,000	\$100 - \$10 per 1,000	\$50 - \$4 per 1,000	
electrical	\$50 - \$6 per 1,000	\$100 - \$10 per 1,000	\$50 - \$4 per 1,000	
Plumbing	\$50 - \$6 per 1,000	\$100 - \$10 per 1,000	\$50 - \$4 per 1,000	
Gas	\$50 - \$6 per 1,000	\$100 - \$10 per 1,000	\$50 - \$4 per 1,000	
Industrial	•	• · · ·	•	
Certificate of Occupancy	100 + \$.005 per sqft over 10,0 100 + .01 sq ft over 10,000 sqft		\$.005 sq ft	
Demo Permit	\$100		\$100	

Re-inspection fee after failed inspection (NEW) \$0 \$35 35 \$0 2x cost of permit Work started without permit (NE 2x cost of permit Change of Occupancy (NEW) \$0 \$100 \$100

	Health Fees			
Restaurants with 150 + (NEW)	\$100	\$150	\$50	
Restuarants with 100-149 seats	\$100	\$100		
Restaurants (25-99 seats)	\$75	\$75		
Restaurants (0-24 Seats)	\$50	\$50		
Mobile vendors	50	\$50		
Conveience Store	\$50	\$50		
Hair & nail Salons	\$50	\$50		
	\$50 plus 0.005 over 10,000 sq			
Lodging facilities	ft	\$50 plus .01 over 10,000	\$0.005 per sq ft	
	\$50 plus 0.005 over 10,000 sq			
Supermarkets	ft	\$50 plus .01 over 10,000	\$0.005 per sq ft	
DayCare/Foster Care	0	\$25	25	
Tattoo Artist	\$125	\$125		
Tattoo Establishment	\$250	\$250		
Amusement Device	3 for \$100. Then \$100 each	3 for \$100. Then \$100 each		

Zoning	Verification	Letter
--------	--------------	--------

\$0

\$50

\$50